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⇒f- attention for language modeling
② Transformers

③ BERT
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ELMO : train a RNN LM on lots
of data

,
use it to produce

" contextualized " embeddings
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n -grams : look at past n- l words only
RUNS : look at everything , butthey can
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In October, people in the US

celebrate-
-

Halloween

Predicting the next word requires

looking back a long way , but

sparsely

A really likes to
go
to the movies

with me . She likes horror movies ,

I'm good friends with
-

.

her
Alice

self- attention : look back at the sequence
so far to predict the next word
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Follows same abstraction as RNN :

sequence of vectors I , , . -
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⇒ new sequence of vectors where
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Advantages : easy access to past words

parallel itable

Disadvantages : not as powerful as LSTMS

( so far)
-
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we want to look back at lots of

things in the context

Multi- head self -attention : K
"heads "

which each do an attn computation
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Positional encoding
-

Attention doesn't know the order of

The words

solution : encode position into Ii
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¥m embs, trained with the
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